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I. 4 Pillars on the roof w/proper 790 (no walls):apy’ "1 validates and nnon
a. w1y ’7. dispute only if pillars are aligned with walls — revolves around applicability of por T
i. an732 pplies same dispute if pillars directly on ground - rejection of 811 "3
1. Perhaps from xn772:-> they all agree if aligned with walls (double rejection of 1 "7)
2. 11’7 they dispute both, used middle to highlight 2py> '7’s 9p
b.  on2 77 dispute if pillars are inside of walls (unclear if dispute extends to X111 ’7’s case)
c.  Np»3x apy’ 1 requires that the pillars can be carved into nrnT
II. Source of “low” parameter (10 D’nav)
a.  N32an 77,0000 71,820 77,27 the 19w never descended below v™
i. And: no man ever ascended above v (v. 2)
ii. And: the nmas+nIR =10 omav
1. pwv.1
2. 192 from smallest *93 whose measurement is given (nmon)
a. a7’y from 021190 79 and nMadn na (vv. 9, 12)
3. Challenge: perhaps this includes the 720 (10 D'nav incl. 720)
b.  wAp 7 from p"niva — where ©'a1 were 2/3 up in p”nTp:pwN 2/3 =10 oMo (vv. 14-16)
c. i “r. cannot accept the figures, since he holds that mnx in the w1pn were 5 0'nov when used for ©%
i. /77 ’7 maintains that the measure was n"n%n
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